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AV rsuaraFay 8 1 0.0286 —1.5436 —0.0441

N 35 1.0000 2 pi log pi=—0.6924

Hs=—Xpilogpi=— (—0.6924) =0.6924



B Hi[X

(£ FH1 AL
RO N 1 20
Eviuaiay 2 15
EVFXFTFavy 3 3
FIT T 4 5
TH T T 5 1
I IRY 6 1
FRXXFavy 7 1
N 46

Hs=— Zpilogpi=— (—0.6028) =0.6028

A M sl Hs=0.6924
B b5 Hs=0.6028

A)B

pi
0.4348
0.3261
0.0652
0.1087
0.0217
0.0217
0.0217
1.0000

log pi piXlog pi
—0.3617 —0.1537
—0.6402 —0.1587
—1.1858 —0.0773
—1.9638 —0.1048
—1.6635 —0.0361
—1.6635 —0.0361
—1.6635 —0.0361

> pi log pi=—0.6028

AHIFD B IR & ) DI OFHETEE - SED 15%F >,

3 oBEILZONBIE ¥ v 7Y vERRERE

ERCOBSEBIER & H A E T ERRE 2 s 5,

A= Zni(ni—1)/N(N—1)
B=1/1  BIXLHEEIRE

A Hh

A ={15(15-1)+8(8-1)+5(5-1)+3(3-1)+1(1-1)+1(1-1)+1(1-1)+1(1-1)}/35(35-1)

= (210+564+20+6+0+0+0+0) /1190
=292/1190=0.2454

B =1/1=1/0.2454=4.075
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A HIX 0.6924 0.5234
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